Solving Quadratics by Completing

the Square

Solve these quadratic equations by
completing the square.

(a)
(b)
()
(d)
(e)
(f)

x2-2x-1=0
x2—4x-1=0
x2+4x+2=0
x2+4x-2=0

x24+10x+2=0
x2+12x-5=0

Solve these quadratic equations by
completing the square.

(a)
(b)
()
(d)
(e)

x2+11x-1=0
x’+11x—-3=0
x2+5x-3=0
x2 —5x=23=(
x2=x-3=0

| Solve these quadratic equations by
| completing the square.

| (a)
| (b)
()
(d)
(e)

(f)

2x2—-8x+3=0
2x2—4x-3=0
3x2+12x+3=0
3x2-18x—-2=0
4x* +16x—-2=0
5x2+20x—-5=0

Solve these quadratic equations by
completing the square.

(a)
(b)
(c)
(d)

2x2+3x—-1=0
2x2+5x-1=0
2x2-5x-3=0
2x2—11x-3=0

) ocx |2
(o) oc=2%{5
@& °c-= -2 5o
(d) oc=-2+{6
(&) 062 -51{23

(F) oc= =6 ||

(q) C= —\\_55

(o) = —11% (’5
(c} o = Si,rg-',
() = 52 75

(e)oc= \:2ﬁ§
%

(a) o= 4;&6

(o) oc= 2_+R3

(c) ac--—?_“‘ [3
(d) o= O\“’r:'
(e)oc= -42_2@
(F) c= —2‘—5-\[_5
(a) oc= "32{‘71

(b) X = —5if§3
A
f&ic=2>,oc” =05
(@) oc= 11EiyS
K.




